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T.B.C.;1ASG - 4/15 = S ' ' Test Booklet Series

Serial No.'.[‘ | o J B ' 152 9 &g
- T TEST BOOKLET
o | RECRUITMENT OF A. S. O.
~_ TEST OF REASONING AND MENTAL ABILITY
- (Time Allowed : 1_(one) Hour) o - (Maximum Marks : 100).

: INSTRUCTIONS_TO CANDIDATES :

. 1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST
BOOKLET OF THE SAME SERIES ISSUED TO YOU. - )

2. Please note that it is the candidate’s responsibility to encode and fill in the
Roll Number and Test Booklet Series A; B, C or D) carefully using BALL POINT PEN’
~ {with BLUE OR BLACK INK) and without any omission or- discrepancy at -the
~ appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render
the Answer Sheet liable for rejection. - o o : :
3. . You have to enter your Roll No. on the Test Booklet | - : L b
" in the Box provided alongside. DO 'NOT write'| - g :
anything else on the Test Booklet. : _ ,
4 This Test Bookiet contains 50 items (quéstions). Each item (question) comprises four-’
‘ responses (answers). You will select the cotrect response {answer) which you want to
. mark (darken) on the Answer Sheet. In case, you feel that there is more than one correct
response (answer), mark (darken) the response: (answer) which you-consider the best.
“In any case, choose ONLY ONE response (answer) for each item (question). '

- 5. You have to mark (darken) all.your responses (answers) ONLY on the‘separate Answer
Sheet provided, by using BALL POINT PEN (with BLUE OR BLACK INK). See .
instructions in thé Answer Sheet. ‘

6. - (i) Allitems (duestioné) carry equal marks. All items (questions) are compulsory. Your
total marks will depend only on the number of correct responses (answers) marked -
by you in the Answer Sheet. ' o . :

(i) There wiil be no negative marking for wrong response (answer).
(iii) I candidates give more than one response (answer), it will be treated as a wrong
. response (answer) even if one of the given responses (answers) happens to be
- correct. S S :
7. Before you proceed to mark (darken) in the Answer Sheet the responses (anhswers) to .
. various items. (questions) in'the Test Booklet, you have to fill in some particutars in the
. Answer Sheet-as per the instructions in your Admission Certificate. o
8.- Afteryou have completed filling in all your responses (answers) on the Answer Sheetand
after conclusion of the examination, you should hand over to.the Invigilator the Answer.
Sheet. You are permitted to take with you the candidate's copy/second page of the Answer
Sheet along with the Test Booklet, after completion of the examination, for your reference.
9. Sheets for rough work are appended in the Test Booklet at the end. ' -
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Direction (Q. Nos. 1 & 2) : Choose & 4.

correct seduence of Vasce,jndin_g order of |
fmagnituc-ie'. '
1. ?'212;38i4?,1o3:
@A) 212,38, 10% 47
- (®) 163,212,47,38_
7 (C) 108 212,.38".47 .
(_D) 103, 47 212 38,
2. Tiillion, Million, Billion, Thousand :
(_A)' Trillion, Thousand, Billio'n,- Million
() “Trilion, Milion, Bilion, Thousand
(C) Thousand, Billion, Mifﬁon, Trilion
) -_ThoL:éand,’Mﬂﬁoh, Bi.liién,Trillioh
Direction (c;: Nos. 38 4) : In each of the
following number series, a Wrong}_ number
is given. FinJouHhé M_oﬁg number.
3 2,6,12,18, 30,42 ;
UQ- 6 .
® 12
. '(Cj 18

(D) 30 |

VL-4AM2 (2)
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2,3,5,7,9,11,13, 17,19

“ Egj . @woiResuLe
(D) 19
Inthe series

861238742157862171413286

how many pairs of successive

-nurﬁbers have a difference of 2
each ?
® 3

(B) 4

©€) 5.

(D) 6

Lata ranked eighth from the top and
thfrty ninth from the bottom ina class.

How many students are there in a

: class ? -
(A) 45

(B) 46

© 41

D). 48

E Contd._- '
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Direction (Q. Nos. 7 to 9) : Which of these

10.

‘Who is the only person sitting

@

betweenAandB?

jumbled words is the odd one out ?
7. (A) FARFIGE
(B) CWOR |
(©) CIENCKH
(D) CHTOSIR
8. (A). ART- ﬂ
(B) ‘TAC,
(©) GoD
| (D) TAH
9. ‘(A) EHOSU
(B) EMEPLT
" (9) .QUOMSE i
. 12,
(D) HURHCC '
| Directfo;l (Q. Nos. 10 & 11) I: Six peréons
_A, B,C DEF réf.e‘s_ifting arodnd la
: circ_Ular table at equal distance frorﬁ each
-~ other. A fs sifﬁn_g two place right of Bwho
is e.xactly opbosite fo C C is :on'
immediately fo the left of D, wh.o'is'exactly ‘
opbosite toE.
VL 4AA2 (3)
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®

D)

F Al l/.‘ . ’ | ,-
" (#moiResuLTe
B -E | k o
(© D

(D) C

The angle subtended by C and F.at

* the centre of the table s :

A 60°
120°.
(C) 90° |

180°

Lata is twice as old as Gita.

Three yearé ago, she was three

times as oid as Gita. How old Lata s’

now ?

" (A) 6years

(B) - Byears
(-C)' 10years .

(D). 12years

(Turnovef)
- @oiresuTs
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13. Amanis facing north-west. He turns

. 90° jn the clockwise direction and

14.

_ thefe‘_a_re between them in English

Direction (Q. Nos. 15 & 16) : Study

then 135° in the anticlockwise

direction.- Which directi.on is he
~ facing now ?

(A) North -

(B)  South

(C) East

(D) West

How many stch pairs of letters are

and answer the queshons g!ven '

(-'f// INDIRESULTE

YOUR SUCCESS PIR'INER

~ belfow.

there in the word ‘ENTHUSIASTIC

_ between them in the word as

alphabet?

A 3

(D) None ofthe above -

the;folléwﬁng afrangement carefully

.\/L~4A112
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‘each of which has as many letters |

(4)

16.

I T#AJ7BSD2KOELSHPE % R
- 15. _Hdw-ﬁany such symbols are there in
A'thé above arrangement, eaq-h of
which is immediately followed by a

Vvoweluand notimmediately preceded

by a number ?

& 1

B 2

(c)' .

(D) 4

How many such numbérs are there

in the above arrangement, eéf;h of
Which is imimediately preceded by a

letter and immediately followed bya

symbol ?

" {A) None '.

(B). One

© Fwo

(D) Three

Contd. -
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Direction’ (Q Nos. 17 & 18) : Each

quest:on below has a set of- two

statements. Fach sfatement has three =

" segments. Choose the altern'aﬁveIWhefe

the third segment in a statement can be -

logically deduced using both the
" preceding two segments.

©47. () Some boys are tall :

persons are smart ; some boys

are sr_nart. :

all tall .

(57 INDIRE s.

\"OUR SUCCESS

(B) Only (||)
_{C) Neither (i) hor (ii). |
(©) Both () and ()

Dn’ection (Q Nos 19 & 20)

| a group of 5 M{msters A B, C, D, E

and 4 Officers L, M, N, O a team of 5

(i) Someboys aretall; some boys |

ar'ersn;lad , boys are either tall

orsmart.

(A)

®)
(©)

(D).

- Only (i)

Only (i

.Neithe_r (i) nor (i) .
None of the above

18. (i) Al coins are crows ;

©. CrOwWSs are pens, no penis coin.

(i)) - All coins are crows ; some
_crows are pens ; some coins
are pens.

A only(

VL—4AM2
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19, Ifthe team consists of 3 Officers, then .

some

(5)

“member is chosen under the following

conditions.

() ~ CcannotgowithO -

(i) Aand D have to be together o

(iif)

D cannot gb with L
(iv) | Cand M havé to be tégether
v) | B and N have to Be toée’ther
(v |

B cannot go with E

. the members of the team are : o

{A) LMNBC

(B) MNOAD
- (C) LMNBD

(D) LMOAE

( Turn over)
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20. . .Ef D is a member of the team . 22. EJement:Argon::Compqund':?

~and the team consists of 4 Ministers,
“then the other members of the team
. are: B

(A) ABCM

(B) ACEN “ A2

| ..(C) ACEM

(b) -_iNon‘e_ c-n‘tAhe-abov'e |
_bffecﬁ@ﬁ (Q. Nos. 21 to 25) : Thereis a |
c;‘ertafn re)étionshfp betweén the twp'. wpi;ds -
on the_le-ft. hand side of the--sign ,
whicb of the given a[temaﬁv;es IS reléted‘
to Kt‘he third v\vor-_d}'n the same Wa} as the .
s.econd word is related to the ﬁrsf_wbrd ?
21. Potato: Stém ' furnib 07

(A) 7' FIoWer: |

) Vegetable
(Cj Root
(D) Noneofthe abm}e

VL-4a12 (g
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.24,

25.

®)

®)

(C)

D)

Copper

Water

Hydrogen

“Neon

Resistance: Ohm: : Potential : ?

A
B)
)
(D)

Ampere
Joule .
Volts :

Watts

Hostel : Warden‘: : Museum 07

*
®
©
©)
Cat

A

(B).

(©)
(D)

_Archéec_)lorgist

-Conductor

Curator

S.ervah‘t' |

Kitten : : Lion: 7
Cub o

Calf

Pqny

Lamb

Contd. '.
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26. In a correctly worked out multi- Dl"eCflO" (Q. Nos. 28 to 30) : Refer fo

plication problem .below,-each

letter represents ,.a dif-ferent thatfoﬂqm
-digit. What is .the value
of X7 o
xov
oy N
212y - | 28. HonanytriangIes'are there in the
. ' | givenfiguré?' N
s W
®) 4 <B'>'1_6‘
© 5 (©) 20
(D) 6 D 32 ' -

27, In a certain language, . if 29

'BMUBANESWAR s .code.d as
CIVCBOFTXBS, how is AC_U‘TTACK
E codéd? |
'-(A) DWXXBDI
®) ‘DUU‘VB.'DL-
(©) DVUUBDL

(D) BVUUBDL
VL-4AM12 (7))
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30.

th.e figure below and answer the Guestions -

How many squares are there inthe

given figure ?

A 6
® 8 .
© 10
'l(D)' 12

‘Determine the number of straight

lines in the figure :

Ay 10,

(Turnover) .
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® 12
:'_' © 14
'(D) 16

Du’ect:on (Q. Nos 31 to 34) : In each

- of the questions given below which one

of the fouf answer figures should come.

after the p(oblem ﬁgurés, if the éequence

- were continued ?

Problem figures .

'31 sﬁé.(%? égp‘ég) &

Answer figures .

IR

) ® (©) ©)

Problem flgures -

32,

y ,

P
.____.E—-e
e S
) o~

4

A

T
Me
lilE

A

Answer figures .

p— —-1

A B © O

T

VL—4A/M12
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Problem figures
= X X o0  [A A
-] ' | -
= =) X _ej0- A

33.

~ Answer figures
AT = T+
I
A Al= =V |+ +

(/-\) (B) (C) (D)

Problerﬁ figures
R
MY lb
- Answer figures

| Tl
Pl | M
(A') (B) ‘(C)_ (D)

34,

Direction (Q. Nos. 35 to 38) : Choose the

correct mirror imége of the problem figure

' when the mirroris placed inR-S posmon .

35. Problem flgure
L R————S .

- Mirrorimages

o] ] el [

(8) o - contd
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39

© aiternatives.

40.

‘ 36 Proble‘rﬁ figure
. .. S ‘
Mirror images’
S @w e © O
37. Prob!elﬁ figure
MOUTH
s
,Mirroriinﬁag‘es
~ IWoUTHWONTH{HTUOWHTUOM|
w ® © O
38. rProble'r_n figure -
FAL|
3 R—S —
Mirror images
LVIF|EVIM|LIVA[LIAT
(A (B) ©) D)
VL —4A/12 (9).
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W,
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The total number of dots on opposite R
faces of a die is'always 7. Find the

correct _-figure‘ from the given

@

“Two positions of a die with 1 to 6

dots on its faces are shown below.

How many dots are there on the face -

oppol's,ite the face havi'ng'Z dots ?

w1
® 3

(Turn over)
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41.

(C). 4

© 6

How many dots lie opposite the

'cub_e?

(A 2

® 4 .
©) 5

'kD) 6

43.

face having three dots, when the -

N given figure is folded to form a

- 44,

Direction (Q. Nos. 42 to 45) : A cubeis

painted black on all six 'faceé is cut.info

97 small cubes of equal sizes.

42, Howmanysmall cubes have only one

face. painted ?
(A) 4

® s

VL= 4A/12

indiresult.in whatsapp - 9352018749

45,

(10)

©) 8

%) INDIRESULT

(D) 12

How many smail cubes have only two

faces painted ?

(A 4

(B) .6
€ 8

(D) 12

‘How many small cubes have only -
~ three faces painted ?
A2

(C) 6

- (D) 8

How many small cubes do not have-

- any of the faces painfed ?

Ay 1
® 4
© 8

(D) None of the above .
-~ Contd.
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Direction (Q. Nos. 46 to 48) : Allnine .~ . (C) (1,8,6);(2.3,5):(4,7,9)

| figures of each question are numbered @) «,3, 4) (2,8, 9): (5, 6‘,‘- 7j '

from 1 to 9. Arrange them into

3 groups according to thefr common 48. ) (l) $ }\, |
probeﬁies. . 1- _ 2 3 :
a 1ol x| £
T | 41516
.46'.'[1'&" 1L E\VARE
112173 IR
IDAA| -
718 9 B) (1.3,4):(2,6,8);(5,7,9),

R (€ (1.3,4)(2,5.7):(6,8,9)

(B) (1.2,9):(3,4,6);(5,7,8) | ' o .

_ A S | Direction (Q. Nos. 49 & 50) : The

(C) (1)6,8):(2,4,7);(3,5,9) , | - ,
- : ' _ R - problemfigure is embedded in one of the

(D) (1.7.8):(2,9,3);(6.4,5) - four answer figures. Find the correct

- answer figure which contains the problem

o \V/ I ._

1 2. 3| . N figure. | .
HEAVA \V4 S - 49. Problem figure
41556 —
INTAIS N )

L 7 8 9 S - _
o I - Answer figures
A) '(1,2,6,8)';(3,’4,9);_(5,7) o TN

(B) (1,2,4);(3,8,9);(4,57) ‘

VL-4AM2 - ENCIO R - (Turn over)

| /... : .‘ | : o
@mowresute
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” . 50. Problem figure

'/>\

. . . " ] ) N o - - °
. indiresult.in whatsapp - 9352018749 : v
sl BIW0 - ()IND

VL - 4A/12

EEDBEREBEEHENEREE

(12)

Answer figures

A

N

(A . (B)

IRESULTH

(€)

o)

. Contd. .
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